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PR FETEHREAFE 3 OXFE2HOBBRICEID, TROLBVHRELET,
B
N ‘ S Bt - O&A
a— K i Eik | PSR (kg &% (M) =il i ol (L)
30100 W Z A 279 41, 785 162 162 32 2794
31100 A 30 3,240 1,620 1, 620 1, 620 24—
31200 |LRZE 9 3, 964 97 97 86 43%
Y3014 KiRZE 4 1,436 76 76 76 193K
31700 F Y 70 15, 552 2, 484 2,484 1,296 T —A
31800 EFHINAE 44 34,533 184 151 59 22031
‘31900 ¥ 7 7, 484 1,296 756 756 Tkg
31900 ¥ 3 3,758 140 140 119 284%
31420 E¥ 3 432 43 43 43 105
35220 XM ERBIT 8 13,738 1,836 1,836 1,728 8kg
35303 AF v TEIALED 13 10, 973 864 864 216 13kg
Y3033  ZZHAAL 1,515 419,194 | 419,194 419,194 419, 194 1l
Y3033 2L 58 3,132 54 54 54 58kg
36200 4% 20 2,700 140 140 119 20kg
33400 L& & 5 1,080 108 108 108 10{H
33300 ([ Tmyaly— 11 8, 300 238 238 167 37{A
38100 AL Wit 8 17,161 1,512 1, 404 1, 404 12kg
30910 S5 4 via 302 76 76 76 44%
41390 IFANA 180 52, 704 1,620 1, 404 1, 404 36% > b
41410 LEYV 2 428 24 24 24 18f#
41807 AL —hRTY LT 3 1,744 54 54 49 343
46108 X AITDHEE 22 36, 288 540 486 432 3%y 7
71011 AL —% 34, 506 59 43 43 71074
71030 K7t&+ 5, 184 54 54 32 1004
71032 | KZ7&F+ () 1,998 54 54 43 404
71150 | LiE 324 32 32 32 103K
71286 ' u—hL 5,594 140 140 130 41K
53456  T-hieiE 4,001 702 702 702 6kg
Y3019 FHoOY 9,936 2,700 2,700 2,160 4kg
Y5009 &4 AT KR 432 173 173 173 3kg
30100 7SV Z A 2L 30 9, 720 3,240 3, 240 3, 240 37—
30100 75N A 2L 50 10, 152 216 216 173 504
30300 A% L 50 10, 368 2,160 2,160 1, 944 | B 54— R
30400 TiE S L 10 3, 240 3, 240 3, 240 3, 240 | F & 14—
31100  F3 M 150 26,352 2,808 2,484 2,484 |FEIRE 1047 — A
31200 |3 4 2,246 130 108 108 |BEIR & 2048
37440 Db 2 896 896 896 896 |2 IR By 17 —2R
31700 | F ¥ Y 80 21, 384 2, 700 2, 700 2,484 |EIR B 84— A
31800 EHNAE 4 3,672 184 184 184 | &I 204%
31950 'HRE 33 14, 040 1, 404 1, 404 1,080 | EIRE 1r—2=
31900 # X 10 15,012 756 756 702 RS 203 (500g)
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% BE B 5e A4 &#H
a—F A Fik | PERR (kg) &% (M) =1l HIE £l PE (EAL)
32800 4125 2 5,616 281 281 281 | =R 203
34300 727 L 25 11,772 2, 484 2,376 2,160 | REA 54— A
34400 k= b 7 4, 406 194 194 173 | REA 24,8 7
34400 ' b= b M 12 7,452 2, 700 2,376 2, 376 | REA 34—
34460 I =)t F L M 5 5,184 216 216 216 | IR B 24,8 7
34100 #HAL 70 32, 616 2, 700 2, 268 2, 160 | = IR 144 — &
34500 'B—=< L 7,128 119 119 119 | ERE 6045
34520 RE—~v B L 1, 620 1,620 1,620 1,620 | EJL B 1 —2-
34571 RXT7 VA (FR) 1,728 173 173 173 | #&[E 1018
34572 X7 U B (&) 1,512 151 151 151 | & [E 1018
36200 FH#E 2L 80 16, 956 2,376 2,376 1,836 | E & 847 — R
36600 7-E P ¥ LK 100 13,608 2,808 2,700 2,700 dt¥giE 57 —2A
33420 Y= U—TLHR L 3 7, 560 7, 560 7, 560 7, 560 | B4 17—
38100 AL Wiz 6 8, 424 140 140 140 | =i 60,3 7
31310 ATE 2 2,376 238 238 238 | IR B 104
31500 | /MAZE 4 4,752 238 238 238 | EIRE 2048
32500 ' HoIE 2 3, 240 162 162 162 | K%y 203
37560 HHIE 1 10, 260 864 864 540 | K4y 148y
38400 X DEFH 5 3, 024 3,024 3,024 3, 024 | W 14—
43000 7e L 25 5, 400 1,080 1,080 1, 080 | [ 1Ly 54— A
43610 EHM X M 80 1,296 216 216 108 | & 84 — R
43800 % LA 5, 702 356 356 356 |REA 1673y 7
46000 ‘W H T 6, 804 378 378 378 |HEA 183y 7
46108 XMIEDNFE 3,499 389 356 324 | ERE 108y 7
49200 XA T v TN 10 2,592 2, 592 2,592 2,592 7 4 Uy 14 —2A
49300 F 4 T—Y 8 1,944 1,296 648 648| =2 —T— 2/ —2R
| 7K
Y5009 {EHHTRAR 2L 20 3,888 216 216 173 | B 20kg
At 3,222 1,039,344 |




